English Grade 8 - Grammar Test 03

Questions

1. he can not affort a car, he goes to work by bicycle.

A. because

B. AS

C. Since

D.  All are correct

2. Everyone in the world

A. wants

B. want

C. iswanting

D. arewanting

to lead a happy life.

3. We must give the pupils an opportunity to find

A. his
B. her
C. one’s
D. their

4. Itwas alongtime

A. that
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I lived here.

own solution to the problem.
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B. since

C. agothat
D. ago
5. Those shoes look very tight. Do they really  you?
A fit
B. match
C. gowith

D. measure

6. A large number of students in this school English quite fluently.
A.  speaks
B.  speak
C. isspeaking

D. hasspoken

7. Bob could not speak Chinese and could Lana.
A. either
B. also
C. neither
D. so
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8. Heisthe man son | once taught.

A. who

B. whom

C. whoever

D. whose
9. Both Mary and Jane, as well as David, __ ready for the exam tomorrow.
A s
B. was
C. are
D. areto
10. She went to market without_anything.
A. buy
B. tobuy
C.  bought
D. Buying
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